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2007-08 District Competition

Match #19


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
In 1897, he converted to Catholicism so he could direct the Vienna Opera. Later, he met with Sigmund Freud to help resolve difficulties in his marriage to Alma Schindler. He was terrified that his ninth symphony would mark his death; in fact, he died a year after finishing it. What composer also wrote Songs of a Wayfayer and Songs on the Death of Children, but it better-known for his vocal symphony The Song of the Earth? 

ANSWER: Gustav Mahler

2.
Prince Maximilian of Baden (bah-den) was the last person to hold this title under the Empire, and gave the power to Friedrich Ebert. No one held it again until February 13, 1919. Ludwig von Krosigk held it for a week in May 1945. Konrad Adenauer and Helmut Kohl did not break Otto von Bismarck’s record of 19 years in what position, the head of the government of Germany? 

ANSWER: Chancellor or (Bundes)Kanzler (kants-LER) of Germany (or German Chancellor)

3.
It is the only Fibonacci number between 100 and 200 and the first Fibonacci number other than one to be square.  Name this number represented in duodecimal by one zero zero, and whose square root is 12.

ANSWER: 144
4.
In real life, it was a drink, made with a now-unknown plant, created by Hindus and Zoroastrians. John Greenleaf Whittier wrote a poem about its brewing. It is better known as a concept in a dystopian novel. When its supply was thrown away, a riot among the Delta workers ensues. It is described as ‘Christianity without tears’ and a ‘holiday from the facts’ by Mustapha Mond. What is this hallucinogen in Brave New World? 

ANSWER: soma
5.
Its integral can be called jounce or snap and it is equal to yank divided by mass.  It is the third derivative of displacement, thus it is usually measured in meters per second cubed.  It is also known as jolt, surge, or lurch.  Name this second derivative of velocity and first derivative of acceleration, with respect to time, that has a very rude name.

ANSWER: jerk (accept jolt, surge, or lurch before said in the question)

6.
This word describes a 20th century philosophy ‘superschool’ that includes existentialism and structuralism. It is the name of a Houston-based airline that is the 8th largest in the world and of a type of Ford Lincoln that was the luxury brand in the 1970s. It was the name of the ‘Army’ that fought the British during the American Revolution. What word that is a general reference to Europe is also a light breakfast served at a hotel?

ANSWER:  continental
7.
Drinking its water made the drinker mute for nine years, making oaths sworn upon it very binding. However, topical application seemed to confer immortality, unless, of course, you forgot to wash the heels. The promises of Zeus to Semele (seh-meh-lee) and Apollo to Phaeton (fay-uh-thawn) were made on what river of Hades, where Achilles also received his first bath?

ANSWER: River Styx
8.
Manufactured by the Wyeth company, it dates from about 1935.  Some of the active ingredients in its various formulations include pramoxine (prah-mawk-seen), hydrocortisone, witch-hazel, and phenylephrine (feh-nil-eh-frin).  It comes in a cream and in a suppository form.  Name this medication for hemorrhoids.

ANSWER: preparation H
9.
The Flynn effect is the observation that scores on it go up about three points per decade. David Wechsler created a scoring system for adults. It was devised in 1905, to identify students who needed extra assistance with schoolwork. Alfred Binet (bih-nay) developed the most famous one. Marilyn vos Savant holds the world record for scoring 228. One hundred is the median score in what measure of one’s brainpower? 

ANSWER: Intelligence quotient test or IQ test (prompt on ‘Stanford-Binet’ before it is said)

10.
Featuring an anvil and an overshooting top, they are created when horizontal wind shear encounters an updraft, turning the rotating column of air vertically.  They often feature a rain-free base delineated by a wall cloud, along with an anvil formation aloft.  What is this most intense form of a thunderstorm?

ANSWER: supercell or mesocyclone (prompt on ‘thunderstorm’)

11.
LAST NAME ONLY NEEDED. They often share editing credits under the pseudonym ‘Roderick James.’ One has been married to Frances McDormand for 23 years. They often work with T-Bone Burnett in their dark, regionally-themed comedies. They are releasing No Country for Old Men this year, their first work since 2004’s The Ladykillers. Who directed The Big Lebowski, Fargo, and O Brother, Where Art Thou? 

ANSWER: Joel & Ethan Coen (Accept Coen Brothers or equivalents, as long as Coen is mentioned)

12.
He worked with Walt Disney on the cartoon ‘Destino.’ He showed his ability to paint ‘normally’ with Basket of Bread, but is more familiar for surrealist works such as The Temptation of Saint Anthony and Dream Caused by the Flight of a Bee around a Pomegranate a Second Before Awakening. What Spanish artist is perhaps best-known for his moustache and for bending time in The Persistence of Memory?

ANSWER: Salvador Dali
13.
In his rookie year, he set team records in both assists and points in a single season, besting the records previously held by his team's current owner. Despite being the youngest player in the NHL to score 100 points in a season, he lost the Calder Trophy to Alexander Ovechkin (oh-vech-kin). The second-youngest player to win the Hart Trophy is what first pick from the 2005 NHL Entry Draft, a forward for the Pittsburgh Penguins?

ANSWER: Sidney Crosby

14.
Also known as volumetric analysis, types of it include complexometric, redox, and acid-base.  Its endpoint can be measured by conductivity, spectroscopy, or pH indicator.  Name this method in which the concentration of a reactant is determined by adding a reagent of known concentration to the reactant until the reaction between the solutions is complete.

ANSWER: titration
15.
Russian and Hungarian do not have this type of verb, and it is dropped in some forms of African-American Vernacular. Some verbs, such as “to feel,” “to seem,” and “to become,” can also serve as these, although forms of “to be” are probably the most often used.  What type of verb connects or equates the subject and predicate, as in the sentence “Bob is a good Scholastic Bowl player?”

ANSWER: linking verb(s) or copula(s)

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
On August 23, 1927, what two Italian anarchists were executed for the murder of two shoe factory employees? 

ANSWER: Nicola Sacco and Bartolomeo Vanzetti
1B.
THIS IS A COMPUTATION QUESTION. What is the vertex of the parabola y equals 2 times the quantity x minus 4 quantity squared plus 5? 

ANSWER: (4, 5)
2A.
What Canadian-born journalist anchored ABC's World News Tonight prior to his 2005 death from lung cancer?

ANSWER: Peter Jennings
2B.
The xiphoid (sih-foid) process is the lower tip of what bone whose upper tip supports the clavicles, or collar bones? 

ANSWER: sternum or breastbone

3A.
For a polynomial, it is the highest exponent. What word also describes the levels of Freemasonry or the severity of a burn? 

ANSWER: degree(s)

3B.
 What Elvis Presley song was set to the tune of the Civil War song, ‘Aura Lee,’ and contains the lyric, ‘You have made my life complete’? 

ANSWER: “Love Me Tender”

4A.
HIV is an example of what type of virus that relies on reverse transcriptase to turn its RNA into DNA, thus inserting its genetic code into the host cell? 

ANSWER: retrovirus
4B.
Louis Creed buries his dead son, Gage, in an ancient Indian burial ground in what novel by Stephen King? 


ANSWER: Pet Sematary
5A.
THIS IS A COMPUTATION QUESTION. Convert 61 into a binary number.

ANSWER: 111101 (can be read as ‘one-one-one-one-zero-one’)

5B.
The largest of the Mariana Islands is what island whose capital is Hagåtña (hah-gaht-nyah) and whose motto is, “Where America’s Day Begins”? 

ANSWER: Guam
6A.
What control statement in C, C++, and Java has a number of ‘cases,’ can have a default case, and ends each case with a ‘break’ command? 

ANSWER: switch
6B.
Who wrote the poems ‘Mandalay,’ ‘Gunga Din,’ and ‘If—‘, as well as The Jungle Book? 

ANSWER: Rudyard Kipling
7A.
What is the Spanish translation of the words, ‘the tree’?

ANSWER: el árbol (ayl ar-bohl)
7B.
Jean-François (zhawn-frawn-swah) Champollion (sham-poh-lee-awn) deciphered what Egyptian writing system in the 1820s, after being inspired to begin work with the discovery of the Rosetta Stone?

ANSWER: Egyptian hieroglyph(ics)

8A.
Between 1915 and 1917, over one million people of what nationality died due to neglect or deliberate action of the Ottoman Empire?

ANSWER: Armenian(s) genocide

8B.
THIS IS A COMPUTATION QUESTION. Solve for x.  x squared plus 19x plus 48 equals zero.

ANSWER: x equals -3 and x equals -16 (either order is acceptable)

9A.
The song ‘I am the very model of a modern Major-General’ is from what Gilbert and Sullivan opera about maritime raiders?

ANSWER: The Pirates of Penzance
9B.
What Rembrandt painting had a dark varnish removed in the 1940s and was thought for centuries to be set in Amsterdam after dark? 

ANSWER: The Night Watch or The Company of Frans Banning Cocq and Willem van Ruytenburch
10A.
THIS IS A COMPUTATION QUESTION. What is the area of a circle with circumference 16 pi feet?

ANSWER: 64 pi square feet
10B.
What element is between nitrogen and fluorine on the periodic table?

ANSWER: oxygen
Third period, 15 toss-ups, 10 points each

1.
He built a calculator in 1652 called the Arithmetique (ah-reet-may-teek), but it could only add and subtract. Along with Pierre de Fermat (fair-mah), he devised the basis of probability, and drew a table for binomial coefficients in his Treatise on the Arithmetical Triangle. Who is better-known for his Pensées (pawn-say), in which he justified belief in God by comparing it to a wager? 

ANSWER: Blaise Pascal
2.
Benjamin Russell coined the name for this period after the then-President visited Boston in the aftermath of the Hartford Convention. The Missouri Compromise put off discussion of slavery, and even many Southerners supported the initial tariffs passed in 1818. What period of American political history coincided with the James Monroe presidency and was marked by an absence of partisan strife? 

ANSWER: Era of Good Feelings
3.
She wrote novels, including The Sundial and The Haunting of Hill House, as well as the children’s play The Bad Children. She wrote about life with her husband Stanley Hyman and her four children in the short story collection Life Among the Savages. She is better known, however, for a 1948 short story about the death of Tessie Hutchinson. Who wrote of a ritual stoning in ‘The Lottery’? 

ANSWER: Shirley Jackson
4.
He celebrated his 65th birthday in 2005 with a performance in his South Wales hometown of Pontypridd. His comeback started in the late 1980s when he re-recorded Prince’s song “Kiss” with The Art of Noise. His most recent hits include “Sex Bomb” and “Stoned in Love.” Whose hits include “Delilah,” “She’s a Lady,” “What’s New Pussycat?”, and “It’s Not Unusual”? 

ANSWER: Tom Jones
5.
He created the game of ‘Blitz Ball’ and founded the ‘Super Suicide Society of the Summer Session.’ He died after a piece of bone marrow left his twice-broken leg and entered his heart. He was ‘too unusual for competition’ despite being the best athlete at New Hampshire’s Devon School. Brinker Hadley insisted on investigating the first leg breaking of what best friend of Gene Forrester in A Separate Peace? 

ANSWER: Phineas or Finny
6.
During his famous flight, he whistled a tune by Dimitri Shostakovich.  Promoted to major during the flight, his name was given to the training center at Star City, where he died in 1968 during a training flight. A 40-meter titanium monument stands to him in Moscow. What Soviet Cosmonaut was the first man in space?

ANSWER: Yuri Gagarin
7.
At the end of this play, the two families simply switch places and repeat each other’s lines as the curtain falls. The housemaid Mary and her friend the fire chief join the conversation the Smiths and Martins are having, which consists of non sequiturs and other standards of the Absurdists. What first play by Eugène (oo-zhen) Ionesco is named for the person that Mrs. Smith wants to duplicate in hairstyle? 

ANSWER: The Bald Soprano or La Cantratrice Chauve

8.
THIS IS A COMPUTATION QUESTION. What is the sum of the integers from 50 to 65, remembering that 50 and 65 add up to 115, and that there are 16 numbers?

ANSWER: 920
9.
It sponsored a Free Breakfast for Children Program and provided thousands of tests for sickle-cell anemia. However, members’ habits of carrying loaded shotguns, engaging in battles with law enforcement, and fighting with groups such as United Slaves led to its disbanding in 1977. Huey Newton and Eldridge Cleaver led rival factions of what militant Black Nationalist group of the 1960s named for a feline?

ANSWER: Black Panther(s) or Black Panther Party

10.
In 1993, this man directed tanks to shell his country's White House, forcing out the Duma and creating a new constitution.  Two years earlier, he had ridden a tank to oppose a coup. After a 1998 financial crisis in his country, he tendered his resignation just prior to the year 2000, leaving his country in the hands of Vladimir Putin.  What man who passed away in April 2007 was the first leader of post-Communist Russia?

ANSWER: Boris Yeltsin
11.
Once called vitamin B4, it is no longer considered a vitamin.  Its chemical formula is C5H5N5 and it has a molecular mass of 135.  This purine is an ingredient in NAD, FAD, and ATP (Quizmaster: spell all these out).  Name this nucleobase that in DNA binds to thymine and in RNA binds to uracil.

ANSWER: adenine
12.
It starts with an old writer describing everyone he has known as ‘grotesque’ and ends with the protagonist leaving town on a train, ‘painting the dreams of his manhood.’ Characters include minister Curtis Hartman, town lovely Belle Carpenter, telegraph operator Wash Williams, and journalist George Willard. The town of Clyde, Ohio, may have been the inspiration for what masterwork by Sherwood Anderson? 

ANSWER: Winesburg, Ohio
13.
The term was invented by Mirabeau in 1763 and made popular by Adam Smith. Its ideas were reflected in Germany’s Historical School and in the American School of Alexander Hamilton. While some disagreed over the wisdom of government-sanctioned monopolies, all agreed that trade was a zero-sum game. What economic school that dominated between 1500 and 1750 thought that a nation should accumulate bullion?

ANSWER: mercantilism
14.
He defeated his brother Arik Boke (ah-reek boh-keh) to win unchallenged control of his empire. He then split his vast territories into four: the Great, the Kipchak, the Chagatai (chah-gah-tie), and the Ilkhanate (il-kah-nate). He then conquered the Song dynasty, but failed in his attempts to conquer Vietnam and Japan. What Mongol ruler was visited by Marco Polo and inspired a poem by Samuel Taylor Coleridge? 

ANSWER: Kubla(i) Khan
15.
Dr. Charles Leale attended him for the last eight hours of his life, removing a clot caused by a round from a .44 caliber Derringer. In 1901, he was re-interred in Oak Ridge Cemetery in Springfield, Illinois, under several feet of concrete to prevent grave robbery. Who was watching Our American Cousin at Ford’s Theater on April 14, 1865, when he was assassinated by John Wilkes Booth? 

ANSWER: Abraham Lincoln
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
He wrote several sonnets for his lover Micaela de Luján, and even after entering the priesthood in 1614, continued to have dalliances. The Stupid Lady, Justice Without Revenge, The Dog in the Manger and The Valencian Widow are among the 425 plays authored by this man that survive – an estimated 1,500 others have been lost. Who was this playwright, a survivor of the Spanish Armada?

ANSWER: (Felix) Lope de Vega (y) Carpio (Felix and Lope may also be swapped)

2.
The 39 Articles of the Anglican Church under Queen Elizabeth I say it ‘cannot be proved by holy Writ’ and that it ‘overthroweth the nature of a Sacrament,’ that Sacrament being ‘the Supper of the Lord.’ Most Protestant churches believe that the Eucharist is primarily symbolic, and thus do not believe in it. What is this Christian belief where the bread and wine of the Eucharist actually become the body and blood of Christ? 

ANSWER: transubstantiation 

3.
Raised to the i pi power, it equals negative one.  It is also the limit, as x approaches infinity, of the quantity one plus one over x raised to the x power. It equals the sum of the infinite series that begins: two plus one over two factorial plus one over three factorial plus one over four factorial, and so on.  Name this base of natural logarithms that is about 2.71828.

ANSWER: e
4.
This state was nearly broken up when its New England region sought to secede in the late 1960s. The Hunter Valley, Three Sisters, and Southern Highlands are all part of its Great Dividing Range. Cities here include Wagga Wagga, Broken Hill, Newcastle, and Wollongong. Located between Queensland and Victoria is what state of Australia that is the most populous and has a capital of Sydney? 

ANSWER: New South Wales
5.
It cannot be directly measured and is a molecular property as opposed to an atomic property.  Definitions of it include Allred-Rochow, Allen, Sanderson, Mulliken, and the most common one, Pauling, which uses a relative scale from 0.7 to 4.0.  Name this property that describes the power of an atom to attract electrons towards itself.

ANSWER: electronegativity
All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

